
1 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF N° E-00-0238

Details of pieces

QTEDESIGNATIONARTICLE

6Single ground socket1

4Double ground socket2

6Bottom of post of 7m003

4Bottom of post of 10m004

10Top of posts5

4Strengthener for 10m00 posts6

11Cross-struts7

20Connections in between bottom and top posts8

6Adjustable hinges9

4Hinges for doors10

1Door bottom right11

1Door top right12

1Door bottom left13

1Door top left14

8Connections in between posts of doors15

4Bottom door post16

4Top door post17

4Doors cross-struts18

8Strengthener for door cross-struts (219A)19

6Door hinge pin20

2Door locking pin21

4Door post hinge pin22

2Rod for net door23

2Rod for 10m00 post net24

1Netting25

1White halyard26

613m00 green halyard27

618m00 green halyard28

8Snap link Ø829

12Stirrup C9030

24Washer Ø12L31

24Screw-nut M1232

40Screw TH M10 x 11033

20Screw TH 10x12034

12Screw TH M10 x 4035

144Washer Ø10L36

72Screw-nut M1037

22Screw TH M8 x 5038

22Screw-nut M839

10Screw TH M5 x 2540

10Screw-nut M541

2Wire cable for door42

100Green PVC fixing rings43

119m00 cable to twist on top of the 7m00 net44

10Anneau Ø979

7drise mis filet80

CAUTION :
 

- Do not use the cage when wind blows over 

50 km/h. Lower the netting and secure the 

gates

- Take the nets down when the cage is not 
used, or if wind velocity over 36m/s
- Store the nets when not used for a long 
time.
 

MAINTAINANCE : 
 

- Check nets, cables an halyards before 
using the cage
- Check solerings
- check thightennings
- Check the general condition of the cage
- Check WA indication should readable and 
visible
 

ASSEMBLING : 
 

- When assembling the cage, we suggest 
you to use a 10m00 lift. 
- The concrete footings are designed for 

good  compact soil ground conditions,if this 
is not the case (sands, clays, ...) the footings 

need to be larger.

 



BBB  ( 1 : 15 )

CCC  ( 1 : 15 )

2 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF N° E-00-0238

BBB

CCC

AN2

AN2

AN1

AN1

AN1 AN1

AN1

AN1

AN2

AN2

1000

1
0
0
0

1
0
0

100

430

1
0
0

1200

1
2
0
0

Fourreau acier
section 100 x 100,

longueur 800
Concrete massif

Double fourreau acier
section 100 x 100,
longueur 800

Concrete massif

Ground

1
0
0
0

1
2
0
0

8
0
0

8
0
0

AN2

AN1

Concrete massif

concrete massif

1450 1450

4390 4390

3665 3665

1
7
0
0

4
1
6
0

1
4
5
0

2
7
3
5

2
8
0
0

90
°

1575

1
1
1
1

2
2
7
5

R
19

45

Locking point opened doorLocking point closed door

34,92°

Rolling gear

4115 4115
Pole
orientation
pin

Pole
orientation 
pin

1 : Concrete work
6 concrete massifs at 350 kg/m³, dimensions 1000 x 1000 mm x 1000 mm.
4 concrete massifs at 350 kg/m³, dimensions 1200 x 1200 mm x 1200 mm.
 
The conformance of permitted soil pressure is customer's responsibility (of σperm = 200 kN/m² 

respectively σRd = 280 kN/m²). if this is not the case  the footings need to be larger.
 

Socket must be maintained vertical



3 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF N° E-00-0238

2370

5,5m

Ø25
00

Ø
2135

Throwing circle A2530
sold separatel (see

technical sheet for concrete)

Throwing circle A2425
sold separately (see 
technical sheet for concrete)

2 : mixed modele implantation

4
m

R 3m50 minimum

6
m

 0
/+

5
cm

2
m

o
v
e
ra

ll 
w

id
th

 =
 9

0
0
0

Overall length (fully closed doors) = 11500

Overall length (Fully opened doors) = 144000

7m30 betwen discus center and door end

1m45

7m

1m45

2m80

2m

7
m

4
5

4
m

90°

2
m

2
5
 c

lo
se

d
 d

o
o
rs

Azard zone
Hammer throw

R24
07

,0

5
3
°

6
9
°

R1
50

0

Azar
d zo

ne

Disc
us t

hrow

Azard zone

Discus throw



4 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF N° E-00-0238

Throwing circle A2520 or
A2530 sold separately (see
technical sheet for concrete)

3 : Simple modele implantation

n2500

3m

4
m

2
m

2m

6
m

 0
/
+

5
c
m

R3m50 minimum

4
m

2m80

7m

1m45 1m45

o
v
e
ra

ll 
w

id
th

 =
 9

m

Overall length (fully closed doors) = 11500

Overal length (fully opened doors) = 144000

90°

2
m

2
5
 d

o
o
rs

 c
lo

se
d Azard zone

5
3
°

a
ro

u
n
d
 

R2407,0



NN5 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

NN

4

44

4

3

3

3

3

3

3

4 : Installation of bottom posts

Installation of posts points 3 and  4 (90x90
thickness 3)
in steel sheaths points 1 and 2 (100x100 
thickness3 lg 800)

1

3



J 

K 

H 

H - A 

6 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

J

K

H

H - A

8

37

36

36

34

8

5

5

Make sure the halyard 
goes into 2 diabolos

13m00 halyard for 6 posts of 7m00.
18m00 halyard 4 posts of 10m00.

5 : Installation of top posts

Hang on the halyard on the peg

All nuts have to be on the
outer part of the cage



M 

N 

7 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

M

N

6 : Installation of 10m00 posts strengtheners

6

6

6

37

35

36

36

Strengtheners with
World Atthletics 
Identification plaque



P 

R 

8 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

P
R

7 : Assembling of cross-struts

38

39

7

7

7

Strengtheners with
World Athletics'
plaque information

First position the spacers on the floor 
for the adjustment of inter-column lengths



S 

T 

9 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

S

T

8 : Assembling of hinges on first posts
32

31

30

9



U 

V 

VV 
10 / 15 A2430B

Standard hammer throwing cage
Produit certifié IAAF E-00-0238

U

V

VV

20

40
41

21

9 : Assembling of bottom of doors

Assemble and place the bottom of doors and
then adjust height with a level



W 

X 

11 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

W

X

16

16

15

15

13

21

39

40

10 : Assembling of the doors

33

35

15

15

35

36



Y 

Z 

AA 

BB 

12 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

Y

Z

AA

BB

11 : Assembling of the doors (2nd part)

17

17

14

18

35

33

35 36

36

35

18

35

33

36

35

10

35

33

36

35

10
35

33



CC 

DD 

13 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

CC

DD

41

27

hang the cable on the
hook with the snap link

18m00 halyard go 
through the diabolos

12 : Installation of wire cables on the doors

27



EE 

FF 

GG 14 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

EE

FF

GG

37

36

36

34

20

40

41

13 : Front doors set-up

Hang the cable o the hook,
then tighten with wire-strainer

Set-up the front doors with
the help of a lifting tackle
(Not supplied tackle)



HH 

JJ 

KK 

FFF 

GG

15 / 15 A2430B
Standard hammer throwing cage

Produit certifié IAAF E-00-0238

HH

JJ

KK

FFF

GG

24

25

23

23

26

14 : Assemble and set-up the netting

4

24

Assemble the white halyard on the bottom 
of posts once doors are opened.
Distribute correctly all the points to hang the net.

Net is maintained on each post in order
to have IAAF dimensions required

In the first time spread the net on the ground for easy mounting
 
knit steels rods on the top of the front nets in order to have the 
correct 10m00 height once net is up

Knit steel rods on the top of nets 7m00 height,
and hang it with the link to the extremity of the 7m00 
(at the connexion between 7 and 10m00)

offset between net and posts

When the net is up, fasten and braid
a halyard vertically on the last pole 
and the end of the door

Add 8 halyard between pole 
and net à 1m30 high


